Prove the derivative of secx using the definition of the derivative function. Show all steps

: ) SCORE: /4 PTS
Do NOT use the quotient rule, nor the known derivatives of any other trisonometric functions
You may use the value of the two limits proved in lecture without proving them again
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The position of an object at time # is given by s(¢) = e'cost . SCORE: /4 PTS

Find the acceleration of the object at time / = -
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2
0 at the point where x =2 if f(2)=-3 and f"(2) = 4 .SCORE: /4 PTS
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Find the slope of the tangent line to the curve y =

[FG] @
v )




Find the following derivatives. Simplify all answers appropriately.
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(Your final answer must be one fraction)
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Prove the quotlent rule usmg the S}ﬁ ition of th rlvative function. Show all steps. SCORE: /S PTS
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